A KL & B ETFALRL)
1 T = A4 EEH OV EREE THE (1 TX)
2 T F 5 Pr LB KT HE#HN 7 BH L Hi&fn 3%412H23H
3L F K & 665 SWAL T EH 0 I H
4 Btk (Fith) 13,771,000 M| 9uirezrorsl B 7 h=2x
5 TREAMMES (Biik) 13, 771, 000 m || 10 %&4L4& %8 (Bitk) 12,097, 000 m
6 RSB (Bik) 12,097,000 m | 1152 Bk # R[S Ff 44 3H18H
®OE O O|H
% £ 4 MMLUEMRS B (1) W= S TIC L DR
AR (FF) 12, 097, 000 ©
W, 1 Eh . (FF) 12, 097, 000 @
B Mo —H— g 12, 097, 000 ®
(KK) BPFIEEsR 12, 097, 000 ©)
) 7 F== 12,097,000 [ Cic kA% T @
REFBLPE (B 12, 097, 000 ©)
(k) (LI pE 12, 097, 000 @
C) L 12, 097, 000
() K7a#i 7))
TR 12, 097, 000 ®
A ) N =
1 B FERT SR R] 22 5336-1
2V e, AR (k) 7 h=XA
3 fRFEE REDGGE BFE B
4 T it KA ~ S 44 3H18H (&)
5 LR BHRGE R
6 LKILHE (BLA) 13, 306, 700 [
7 BB
AL LR i
B HRFEHIR
75 5 FH




